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Where Aspiration Meets Success
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(i) (d) 0J.
(i) (b) 0.04J
(i) Ry=Rg (1+at) R; — Resistance at t°C / t°C-94 (J1¥
Ry — Resistance at 0°C / 0°C-9 (I
100 =Ry (1+a-100) ....... (i)
200=Ry(1+0-t) ..coee. (ii)

o 19({_%(1+(x-100)
(i) = (ii) gives, 200 B (100

S1+at=2+0-200 =0(t—-200)=1 = ot — o - 200 =1

= 0.005t=1+0.006x200 =1+1=2
2

= t=———=400
0.005
(c) 400°C
(v F=i(TxB)
(d) 6=90".
v) () low reténtivity-and low coercivity / T @iemFTel @ fs FzRisTot
(i) (b) the speed of the magnet / 5934 5ifeq T2l F
(vii) (c) average value of current for a complete cycle is zero / G ‘7i°fb_(§ e 21T NG 3 *[e) 27
(vii) (@) 1:1
(ix) (b) R/3
(x) (c) fringe pattern is shifted / e/ {57 =S 6
(xi) (d) intensity of light. / SITEIF &RCTHI T |
(i) L= pen? neer?
2n
~L= r% l
2n
L e r%

i.e no options are found correct./ (T 3 73S Tax ezt A 7|

(xiii) (@) NAND
(xiv) (a) Amplitude modulation / R®IF TGS



